EAGRAROBREERT — 2 N— ABISH —F

20195108208 (H) 3mE#is4H

B:tzs smo5x v5R3mE (BS) (5 == I
[x&<£] 1 % :18,200,000 § 2 #:7,300,000 § 3 7 :4,600,000 @ ~ 4 #:2,700,000 @ 5 & :1,820,000 M
E BB BEBR M HE BF (FE) g4 L (&%) | BBIEM | EOF [SIEE | AR | A2 | BEER (FRB) / BE / £ENS
— se JlExRE : - HHREZ (EXR)
i1l 7=7t=-v-=72x 4 4 iR 1.(0_9).2 4-4 35.1[106.0 | 1 32) e
R:d—IW K7 2—Ib B:)—FIxT71)— Y HIHE
ERE— :09. — . . NEFRER (i
2l8l15 @)1 /1%F 4 4 50 (11039/8 2-2 35.6 | 102.8 | 4 (5+060) Ema
L:dr7—3UT7> B:xFHT— BIN77—L4
s > LHER : - BFiE— (EH)
3 7l vysr—n > 4 =8 1.(029>.8 4-4 35.7|99.7 | 9 %()) il
Rixrvvd/xex BT r—hyT HET7—L
< A N KRR : » LR (%)
4 s|@78—T3—EL 4 5 = (17.0;% 7-6 35.4|99.9 | 7 (z&ff) mmﬁzﬁj‘z
L:v—N—FK BT 4—-E-F2Z Wi i
N - HLLTER : - JAR (E/
5l7l13 ¥ 7=51> 4 6 57_07:1 1.(1‘8.5 13-13 355|929 | 2 (5_260) ;:;aaa%g( )
RiFvvH/xEF BUICRTA HET7—L
" #LEse 1:10. 1-1 7. . 4 REEER (£H)
61712 RE=LTZ -0 t 5 | s iy R Tl N Wl g - Pt
Lxov¥/xtx BYCILTI-N Al ®—
7 6| NIVITZAAFNE [B] 5 | BERLT 1710t§ 15-15 | 34.9] 90.3 | 11 ?f) Eﬁiﬂgzﬁi)
R:HTS/RKI47T BTV EwXFv—L A IS
. . AL : - EREtESE (FER)
glslg| 1= R 4 4 i 71(1):? 9-10 36.4| 89.1 | 6 (4&0) e
Z:7A7% B:XA2anadF BERS
N > hA AR :10. — . . Sk (%)
9l8l14| 7L ¥ v ZI =21 [B] BT R ! 1%9 66 |%.7) 8951 13 (4:42) BRAH LY
RFxLTAANXN B:T7q02 00— J—HrTr—LA
. e = . . wpa 5
®IVELT 4 # o5 | AU 1(7105? 1310 |36.0 | 88.9 | 12 (5524) §§§'ﬁae (=8
A:More Than Ready #:Niagara Falls Ramsey Pastoral Co Pty Ltd
S = 3 | HHEEA 1:11.0 7-8 36.6| 88.3 | 5 470 | EEB— (ER)
T p LT 4 XN % 20 26 w2 | ) AFTTER-LF (2R
AT AT v— B:drFyO-—-7 Bk
XM agFoA % 5 | BRCH 1(71::? 11-12 [ 36.2| 88.0 | 3 (ig) gfgﬁ(?i)
A3 Lyy B:x4vavtiex BEEF A
. — o EEBRR 1. = . . FEEAL (EH)
TLHARNT YT 05 o (17270) 9-8 36.4 | 88.1 | 15 (4_888) et e
R:TVHAXI R B:dry 7 INT7—L4
9 S RHE 1. - . . EFES (EXR)
LT~ w el R I e R Il el -
R:TIv 084K BEY—ZX710—> Siiibe
Jo7 f 6 | BEHEA 1:11.4 2-2 37.5|85.8 | 14 | 474 |KILEE (i)
55.0 (757) o | @ InTr-n
LxAA439R-5— B:a43EYJIvIX IWT =L
@ 1L
£ 46.5-35.4
NAa24 L | 12.0-10.7-11.1-11.8-11.6-12.0
® 1 — S —@EBIEM
13—=7—
2al=5"=
== (11,%12,15) (1,7)14(2,5) (4,8) (9,10) (3,13)=6
43—+ — (11,x12,15) (1,7) (2,14) (4,5) (3,8)9(13,10)-6
[ /N
B 1 380H 714K 1-15 590 e E 1-8 1,350 EE 1-7-15 5,510
# B 1 170 1-7 910M B = 1=1® 1,320 3EE 1-15-7 20,870/
15 280M 7-15 1,800M B H 1-15 2,280
7 330M

ABRICOVTHRTEEERROODE, THEB LS,




